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% —_ .u.da.-ﬂ
Inverse of a diagonal non-singular 1. ol seroita sy w1 whem
matrix is A) Tt sTeqE
B) Skew-symmetric matrix C) ferpul amrege
C) Diagonal matrix D) sifewr 3R
D) Scalar matrix
. 2. 3
o 3 m.q_ﬂaq_mﬁ? an>+m,mﬂ>
If the matrix ﬁ H_ =A+B, where A .
5 - Tt sege 3k B fomm wmfi avege

is symmetric and B is skew-symmetric g, dB=
then B = :

(1 0 A) B ou_

0o 1

A o ; .

0 B) o= g
B |, ou_ 1 0

‘o 1 & [ 0 J

B =1 -0

€ |- L i

—1 0 D) -L J

- 0
B0 L X

3. 3R A g 3 x 4 23l B sgg

If A is 3 x 4 matrix and B is a matrix such

that A'B and B’A are both defined, then
the order of B is

A) 4x4
B) 3x3

e & fed AB ik B’A 3F1 afoarfa
fohw ot werd 8, WY B ST A 21

A) 4x4
B) 3x3

Fo L . D |



;-2 o o |
C)=—| 0 -3 "0

%0 0 -4

% 0 0
D) [0 % O

0 0 %4

. Ifa,,a,,....,a,, ... are in G.P. then

loga, loga,,; loga,,,
loga,,; loga,,, loga,,s|is
loga,,s loga,.; loga,,s

A) 0

B) 1

C) -1

D) None of these

. The characteristic equation of a matrix A

is2® 502 3a+2 0 then |adj A| =

A) 4 B) 25

C)—| 0 -3 0

% 0 0
D)[o % o

R —

0 0

. 3R a, a,,..

loga,,
mw _O@m_._+m
_8m:+m

7

wr8y, oo AT TR,

_D@mﬂ._.._ _OQm..Im
loga,. 4 loga, , 5 "
_O@m_:.., _Oﬁm?rn

2

A) 0
B) 1
C) -1

D) 7 ¥ w5 7

e A =1 fafire vt
AP -BA2-3L+21=0 %, @



. Let A, B, C, D be the points with

position vectors 3i - m.ﬂ - _.N.

2] +3) -4k, —1+2]+2k and

4 + 5] + Ak respectively. If the points
A, B, C, D lie on a plane, then the
value of A is

A) 0

w :ﬁ x ._msax 2 and the x-axis is ﬂ@m@m. &mﬂ_
7.5 5q. units, thenm is & qmﬂmﬁmw
drm 21
A) 2
A) 2
B) 3
C)4 B8
C) 4
D) 5
D) 5
. The order and degree of
)
TAM.HW uﬁ%ﬂ_m 8. T+ %m ﬁ Hﬁﬁnﬂ#
n22
B) 2,4 A 22
C) 1,2 B) 2,4
.E 1,4 sl
D) 1,4

9. 7 =i A, B, C, D fiigedi e fufar
afew e 37 - 2] -k, 27+ 3] - 4k,
—T+2]+2k 3 4T+ 5]+ 2k B19R
g A, B, C, D Tmaei W &, @ A
o i

A) 0
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B i

(5, 1, m) lie on a straight line then / and
m are

A) 3,10
B) -3, -10
C) -3, 10

(5, 4, m) A @ RE, dt /3t m

A) 3,10
B) —3,-10
C) -3. 10

|

10. Let &b, & be three vectors having 10. 7 &S &, b, ¢ oW afew 2, R
magnitudes 1, 1 and 2 respectively. foeamwmm: 1, 1o iafe e
s Sist =y - " . - e L ”l |.!| — e,
Ifax(&@x &) +b=0, then the angle ax(axE)+b=0% dakcH +4
between 3 and € is ffer =1 ST 2l
A) B A %
) 5% B) 51
©) % C) %
D) Both A) and B) D) A) 3k B) CiCH
11. The distance of the point A(a, b, c) from
the x-axis is 1. x-3G ARG AR, b, o) gl __ %y
A) a A) a
B) b%+c? B) Jb?+c?
C) Ja?+b? C) Ja%+b?
D) a2+ p? D) a?+b2
12 {3 LD and (@+Db) L(@+mb), 12, 37R @ Lb K (@ +Db)L(a+mb)
then mis 2, dm 21
. 2
A) 1 B) B/ A 1 B) &/
2
.l_..m_m I_M_
C) -1 D) _m_m C) -1 D) _m_m
13. Ifthe points (-1, 3, 2), (~4, 3, -2) and 13. IR (-1, 3, 2), (4, 3, -2) 3R



b - e
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14. The equation of a circle passing

14. ﬁ:@mﬂmﬂ x2 4 y? +13x ~3y=0

. e poin

R 2x2 4 2y2 —7v-25-0%
of intersection of the circles 2X"+2y"+4x-7y-25=0

x2+y%+13x -3y =0 and witreda fig @ IoR a1t 79 1w

2x2+2y? 4+ 4x -7y -25=0Is SR |

A) 4x? +4y? + 30X —13y - 25 =0 A) 4x2+4y2 +30x-13y-25=0

B) 4x2+4y?+30x —13y +25=0 B) 4x®+4y®+30x-13y +26=0

C) 4x%-4y? - 30x + 13y - 25 =0 C) 4x®-4y®-30x+13y-25=0

D) 4x2-4y?+30x—13y-25=0 D) 4x®-4y®+30x-13y-26=0
15. The digit in the unit place of 72" is 15, 7" FEEAFIAF R

A) 1 A) 1

B) 2 | | B) 2

C) 3 | ©)3

D) 4 D) 4

16. Ifa=b(modm) andxisaninteger, then | 16. dRa=b (mod m) 3 x G ot &,

- which of the following is incorrect ? Frfaes # =t e @ 2
A) (a+x)=(b+x)(modm) - A) (@+x)=(b+x)(mod m)
B) (a—x)=(b-x)(mod m) B) (a-x)=(b- x)(mod m)
C) ax =bx (modm) C) ax =bx (mod m)

D) Am+xvmﬁ+x1=..on§ D) (a+x)=(b+x)(mod m)

17. Ifaand bare positive integers such that 17. %m%uﬁﬂﬂﬂaﬂwuﬂmﬂ
(a®-b?) is a prime number, then (a2 — b?) ITTSY HEn &, @

A) a2 -b? =(a +b) A) a%-b2=(a+b)
B) a®-b®=a-b B) a®-b?=a-b




19,

20,

A)(Drt)is-a-semi=grolp——o—ae .
B) (Z, +) is a group
C) (N,+) is a group

D) Set of all cube roots of unity is an
abelian finite group under
multiplication

123
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a

4 5 6
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63152 4

In a group G, the equations ax = b and
ya=b have

A) No solutions in G
B) Infinite solutions in G
C) Unique solution in G

D) Dependsonaandb

19.

Dile 3152 4

20.

B) (Z,+) Hug &

C) (N-) whag?

D) TR % d%d Uhed & |t o gl 6
T e difia g @

3
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n
w
KLY
o
(=}
-

B)

-
prs
M
w
F Y
Loy
(o2}
—

Cls 2 5 1

¥4}
(82}
Lo

—
—
n
W
5
w
)
-

e G H o ax = b iR ya = b+t
B

A) G 7 =ts gy 7

B) G ® 3Fq Ty

C) G 3 & T FHNE

D) a 3R b W fft e 2



22. Iif

23.

A

Tl

B)
C)

D)

C)

3Ty f(x) = u.mm,ﬁ_,&“ TR x20 @
(x)={xe _m_ﬁn iflx = @then IR Xx=0

Freffan AT & adi 2 7
which of the) " PRARCSREPLD) aifdrs iR

f(x)is n@wﬁ&oﬁm&ﬁ% @ does not

exist

f(x) is rfol doftiftions s 3R £/(0) i R # 8
f(x) is dOptiFdopsaHad(0) also

exists
None of these

23. 3R cﬂmﬁLWQIxf?lL ?,
y =sin umwgﬂxf\._ X ) then

1
A o2
3 MJ\ 1-x

2,1+ x2 -1



| 24 IR x"Y" - (x+y)™ ¥y =
-y
A) -
B Ivm : 5 X
) y ) .
Cc X C —X
) y ) y
D) % . D) %
I = - - i
25. _:uxx_&. then y'= 25, W y=x* 3,y =
|
-y -y
A x(1-ylogx) Al x(1-ylogx)
v P
B) 1-ylogx B 1-ylogx
_y Vv
©) (1= yiogx) ©) X-yiogx)
|e.m .l%.m
®) 1-ylogx B 1-ylogx
-1 .H = .IXI \ 1 H = m y
26. If cos ML _omh:w , then 26. 3R COS AL _BTW g
X%yo + Xy, = . . Xy, + 2y,
A) n?y j 2 A) nZy
B) -n% | B) -n?
\
Cy 2 Y 2
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TS aIgliT UeLiwesll UL LUl Vea

x2+y2-2x+3y-43=0 at(-3, 4)is

A) a:..é

B) tan”( }4)
) %
D) tan”(%)

A man g’ tallmoves away from a source
of light 20’ above the ground level, his
rate of walking being 4 m.p.h. At what
rate is the tip of his shadow moving ?

12
A) =

B)

8 ~jw

BT,

D) None of these

The maximum area of a rectangle that
can be m:.mnz_...mn in a circle of radius
2 units is

A) 8 sq. units
B) 4 sq. units
C) 8= sq. units

T™NY M s ¢ el

27. {(—3, 4)Hd&Esh X"+Yy" <20 SR

28.

mysllw..

A) tan '(1)

B) tan '( Y6g)
C) %
D) tan _A&L

6 G2 S T et AW WA 20 |
SR F W F S ¥ g @2 | 36
e & 7 4 wiiet wf oo ® | el v

 RimRE TR

12
A) 52

~|w

B)
40
C) =

D) s ¥ =1

. 2 318 e & 99 # sifRd amga @

aftrron dae R
A) 8 =7 Al

B) 4 = gepmsal

C) 8rn I gwrdal

D) 4rn 91 =gl
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30. If the function f(x) defined by 30. 3R Fe f(x) . o
. — i e i % e ——————— R
xxvuqoﬂ+a+.:.+lm.+x+d. :5u%&+Waﬂ+..:+W+xi@
then 1(0) = o fiva simg, 4 #(0) <
A) 100f(0) A) 1007(0)
B) 1 B) 1 .
C) 100 C) 100
D) None of these D) zai @ % T
31. The value of the integral 31. qHR Tx {f(x)+ 1(x) Jox =1 7z
Jer{tx) +7(x) Jox is I Th
A) mxﬂxﬁxu_ +c A) m.mwsﬁvc +C
m X
B) e*f(x)+c ye)+e
mx
e* C) s tC
— f(x
C) o " x)
_m_x
eX D) ﬂ\ﬁxv +C
D) 700 +C
{ cos?x
ot mm.ﬁmﬂu.ﬂ?m,ax_mvoﬂm,ﬂ
32. The value of the integral d|1u|ax_ "
et +a . W_
a>0is
A) 1 Al
B) 0 B) 0
T n
C) 3 C) 35
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33. The value of the integral

._.mxﬁxm +1) |ﬂr
(x + 1)
/ \
A) €"log x e
r,u,."+l_k
s o
B) e*log x+“ +C
L X= 3
-
quv ok X+1 e
_,xﬁﬂ._
"
D) e X=11 ¢
Xx+1

34. The area enclosed between the
parabolas y? =16x and x2 =16y is

A) MW sq. units

256
B) 3 $q. units

16
C) 3 sq. units

| _ D) zgr of these

[ 5
-

35. The solution of y' =e* ¥+ x%~ is-
A} 3(e’-e*)-x3=c
B) e¥-e*~-x3=¢

C)e'-e*+x’=¢

D) e*|— |+¢

. TETT y2 16x 3R x® — 16y B IEg

EECEa R e L S {
A) Mmﬂﬂ%&.
B) %mﬁﬂa&
meiﬁa&
D) o & w1 i -

y =e* Y+ x%eY HEHYR R
A) 3(e —e*)-x®=¢
B) e & x3=¢

_DXL-<U.|\._

™Y Y



36.

37.

' 39,

The value of 4tan™

i
tan Y —
2 [p= ?m&

D) tan T(139)

i 1
A) tan Tmmu

C) tan '(239)

5 4| 2
value of x

A) 3
C) 1

If sin _ﬁxfnommo-_ﬁmunm, then the

B) 2
D) O

!

. The general solution of

V3cosx +sinx 2, for any integer
“n"is

A) :=+MWM
B) :nl.wwm
C) mETMHM
D) m:n+m“wm :

|
The .Bmmm:ma. part of conjugate of

1+i) |
Tu%a

A) -1 .
B) -i

C) 1

Ny i

37.

38.

39.

— B ) s
i 1 4 1
A) tan ﬁgw B) tan M&mu
C) tan '(239) D) tan™(139)
in (X )+ cosec-1[ 8 ) 7
3P sin T%nc@m.o Mhulm,%x
I g5 B
A) 3 B) 2
C) 1! D)o
V3 cos x + sinx =2 , B quite “n" &
fore wmm=r & HE
T, W
A) ETTmHM
T,
B M 5%%
T =T
C) 2nn mwM
D) m:n“.TMHm




S
40. If o is an imaginary cube root of 1,

o S _ ——

then the value of 1(2 - ) (2 - w?) +
2B-0)(3-0®) +..+(n-1)

(n-0) (n-o?) is

A) &:M 1) o

B) :~A=h+ 1)? o

o) A:m+ L_v+=
v n?(n 1) "

41. The equation of the tangent and normal
tothe ellipse x® + 2y? + 2x — 4y —14=0
at(2,-1)is

A) 3x-4y-10=0,4x+3y—-5=0
B) 4x+3y-10=0,3x+4y-5=0
C) wx...&.,lmuc_ 4x +3y—-10=0
D) 3x~4y—-10=0,4x-3y-5=0

42. If the line 2x + /6 y = 2 touches the

hyperbola x? - 2y2 = 4 , then the point
of contact is

A) (-4, 46)
C) (4,-V6)

B) (-4, -6)
D) (4,/6)

- 43. The angle between two diagonals of a

cube is

A) cos™ T\,\& .B) cos'( 14)

41.

42,

=)

- . w 3, @ L N
12 @ o)+ 28-0)(B-0?) S
.._...:..m-ﬁ._ ._uAﬁl_nGVﬁ:lstﬁﬁ
Wik
nn+1) _
A) 5 n
_._m:._+._vm|
4
n(n+1)

_m+

2 2 1
D) i SM.: +n i !

n

OV +n

A 2+ 2y2+ 2x ~ 4y — 14 =0 F
(2, —1) R vqef T ik sifivena =t
EEicT) H

A) 3x—4y—-10=0,4x+3y-5=0
B) 4x+3y—-10=0,3x+4y-5=0 >
C) 3x-4y-5=0,4x+3y—-10=0

D) 3x—-4y 10=0,4x-3y-5=0

I 2x oy =2 AfRaT™
-2y 4 R w2, @

foig 21

A) (-4,6) B) (~4,-6)
C) (4, /6) D) (4,46)

. F 2 Rl & e R 2

A) COS _ﬁ\\a\mu B) nomu_Cmv



46.

allgllala (] al=

A e joining L3 A -2 00 =5

. (8.0.5) 3 (1.2, 1) )

right angles is

A) 2x+y+2z=7
B) 2x+2y—-6z=7
C) x-y+22=7

D) x—-y+3z=7

. The equation of the line passing through

the point (5, 3, 2) and perpendicular to
X-2_y-3_z-4

the lines 3 =3 7 and
xmmnw”_.iuwm...:m

A) xllimuwmmuumm

B) xw_Luwmmuwa

c) xﬂmuwﬁ_mnmwm

D) meumenNmm

The vertices of the hyperbola are at
(~5,-3) and (-5, —1) and the extremities
of the conjugate axis are at (-7,-2) and
(-3, -2), then the equation of the
hyperbola is

_n\2 —E\2
A) (v 4& _(x a& -1

2 2
B) q.ﬂmv :Axw@ e

,m m
c) ?M& Lﬁmv 1

N (X=5)2 (y-2)2

&1 wrfleroy
A) 2x+y+22=7
B) 2x+2y-6z=7
C) x—y+2z=7

D) x-y+3z=7

45. 1513 (5, 3, 2) ¥ T T i Yy
xlmnwlmJNL" s

|

1 -1 1
xmﬂuwﬂdunmiﬁq e Yy
=1 Tt 31

X-5_y-3 z-2
N 3= 3
X+1 y-2 z2-3
S
X-5_y-3_z-2
©) = 1
X-5 _y-3 _z-2
R I B

46. Jftrae™ 1§ (-5, -3) 3R (-5, -1) %
3R vt 31 H 3R (-7, -2) ok (=3 -2)
®, Tt Stferae w5 wHiw H

_m2 _cy2
w52 o9

y+2° (x+5?2
B) L= =1

=1

(x+5)° (y+2?
C) = =1

{w — E}2

far . ™M\2
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47. ._.Eo n__nmm are thrown m_ac_ﬁm:mocm_«

48. If A and B are events with .
PAUB)=3], P(A)=2£ and
P(ANB)= 1/ then P(B) is

A Y B) %
c) ¥, D) Y,

48. The probability that among 7 persons,
no 2 were born on the same day of a
week is

A) % B) A
C) Wﬂu . D)

=3
50. For the events A and B, P(A)= h

PB)= J5, ANB)= ¥, then
P(A/B)=

SIpA B Ys
Y - a

B A &ﬂ&ﬁﬁﬂmiﬂéw@mﬁ

=]

48. 3R A 3R B "eTd § 3 _uopcm_unLT

n%&nwm 3tk _ufpjmvuk 2,

P(B) 21
NP A B) %
C) N D) %

49. ra @ % <19 2 | g ¥ s d e
A1 7 B Y wiRreRar 2l

A) % B) 7%

c) Vo D) 2

50. A 3 B weail & g, P(A)=3,
PE)= %, PIANB)= %o &,
_Umhfxmv"

DA B) Ys
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52

53.

54.

et A AL LLL™ D N |

@A fam

except ethene leads to the formation of
A) Secondary or tertiary alcohol
B) Primary and secondary alcohol
C) Secondary aicohol

D) Tertiary alcohol

Among the following which is least
acidic ?

A) Phenol

B) O-cresol

C) P-nitrophenol

D) P-chiorophenol

An ether is more volatile than an
alcohol having same molecular
formula because

A) Dipolar character of ether
B) Alcohols having resonance structure

C) Intermolecular hydrogen bonding in
ethers

D) Intermolecular hydrogen bonding in
alcohols

An organic compound A(C4HgCl) on
reaction with Na/diethyl ether gives a
hydrocarbon which on menochiorination
gives only one chloro derivative then,
Ais

A) lIsobuty! chloride

B) Secondary butyl chloride

C) Tertiary butyl chioride

Y & boibrol b o d

enes

51.

52.

53.

54,

T e ————
SRS i Ffifelt 3 gar &)
A) Tt =1 geftees derterer

B) wafirs o1 fyeias tenee

C) fedios tewige

D) i tewidie

ffofea & & aod w0 vy s a2 2
A) $FTe

B) 2if-shdier

C). M--rggt BT

D) Rr-wwiidra

T & A FEa denee & SR
e 18R 2 i

A) 3R 1 e =y

B) Uehigid i 31T e

C) mﬁmﬁﬂﬂﬁmﬂﬂ%ﬂgﬁs
D) wﬁw@mmﬁﬂﬁswmﬂﬂ@ﬂﬂﬁﬂ
U FE AF  A(C,HLCl) ifem
SRIFUISE W F "y AT o
TSR aa & S W R 0 e
R GO MM A 3
A) T8 ST weivse

B) e sgere woise

C) i sgerser Feirvse




56.

57.

58.

compound upon oxidation forms a
carboxylic acid as the only organic )
product with its molecular mass higher
by 14 units. The organic compound is
A) A ketone

B) An aldehyde

C) A primary alcohol

D) A secondary alcohol

Anisole can be prepared by the action
of methyl iodide on sodium phenate.
The reaction is called

A) Wurtz reaction

B) Williamson's reaction
C) Fittig's reaction

D) Etard's reaction

Consider the following reaction :

CaH;0H+H,S0, — Product. Among

the following, which one cannot be
formed as a product under any
conditions ?

A) Ethylene

B) Ethyl hydrogen suiphate
C) Acstylene

D) Diethyl ether

From amongst the following alcohols
the one that would react fastest with
conc. HCI and anhydrous ZnCl,, is

A) 2-methyl-propan-2-ol
B) 2-Butanol

Fal T BN = POY TR}

56.

57.

58.

e e i B e

HYA I Foame & 14 37 AR

TS W Flelfeh I0U1E o § F Feifayiers
U = R | 8 R A 2
A) TF Fidw

B) w Ufeserss .

C) & Wi (e

D) = Tl Yot

Hifsam 5T w A amitere &
Hfufsn & Wdia dm frwrgwa 2|
7 AIfferar =t FEIAEAR |
A) T&= rfifen

B) ferferamre arfirfman

C) frfemg arfufemn

D) wedy i

Frfafa sififemed = &= ¥ e ;
C,HsOH + H,80, — 3mmeT | Frfifaa
# 9 T ol oft Rl & v 3 & =g
i et s S AT § 7

A) Uefiefi

B) 3unE TG woke

C) uifeeta

D) Sraguse $or 3
et Yeehieter & & < w5 @ wim

HCI 3f st ZnCl, & sifirfpar s
e

A) 2-hUTgA-uT-2-atfe
B) 2-sg¢ta



59. Hydrolysis of aromatic amide gives

59. Wiftr e fiegefefm_

AW VS —— - AL R S R .
B) Amines A) tfteg
C) Alcohols B) g
D) None of the above C) Thiga
D) 3 @ 13 o 7
60. Methyl phenyl ether can be obtained by :
reacting . 60. st 3rfien & s e
A) Phenolate ions and methyl iodide SR STt Rk ST e ®
B) Bromobenzene with methoxide ions A) Ticie s afit ferge ammierss
C) Methanol and phenol B) WelaIss STRHI % §19 S
D) Bromobenzene and methyl iodide ) 7 3
D) FmE=A 3R Yumne smiens
61. Which of the following is correct
statement ? Bl. AR T G o & 7
A) Acetophenone is an ether A) TETHIT T $oR 2}
B) Diastase is an enzyme B) THERS TF UET @
C) Cycloheptane is aromatic C) HRFile< T Wl difien 2
compound D) Sut & Tt

D) All of the above

62. Which of the following is incorrect ?
A) FeCly is used to detect phenols

B) Fehling’s solution is used to detect
glucose

C) Tollen's reagent used to detect
unsaturation

D) NaHSO, used to detect carbonyl

62 Fafafea i a s aTea & ?
A) FeCl, 1 Il Eiier T 9a1 e &
o s 2

B) W&l Zravr 1 394N IS T waT
T % fore e ST @

C) drew e %1 3T sradqwa 1
ol ST & e fra e 2
D) NaHSO i1 3w Fmifrer A



63. Which one of the following is not a

condensation polymer.?

A) Dacron
B) Neoprene
C) Melamine
D) Glyptal
64. Which of the following statements is
false ?

A) Repeat unit of natural rubber is
isoprene

B) Both starch and cellulose are made
up of glucose units

C) Artificial silk is derived from cellulose
D) Nylon-6, 6 is an elastomer

63. Frafrfad & & # w1 deqw age TR 7

e el R i oy, Ty

B) famfi
C) Tefmre
D) fereta

64. FfifEr A d SR wr oo & 7

A) STEpfte TR % g i 3
AT B |

B) wr i agea a1l i swEa
EECR R ST

C) B tam =i Igem & o= § |

D) THEi-6, 6 TF LR B |

65. SFemic S W BRI g aE TR ?

65. Bakelite is formed by the reaction of | A) St 3t wHiREES
. i:mdﬂ.ﬂ:d.ﬁﬂnﬂnﬁ:ﬁw B) wHifeeerRe 3t sen
B) _uo:.u_m_am.:ﬁm and aniline C) Aedi e i T TR
C) Adipic mna.m:a ethylene glycol D) Wit tfire o soeet "
D) Phthalic acid and ethylene glycol .
66. Which of the following is fully fluorinated #0- b 0 o @ SR
polymer ? _oa..ﬂq_ﬂm_mmﬂm ? :
A) Neoprene A) Finftr
B) Tefion B) Twlt
C) Thiokol C) Reriterret
D) PVC D) t . 4.
67. Which of the following is a polyamide ? 67. FrefaRaa & &+ o1 v viiomse 2 7
A) Teflon . A) TwIH
B) Nylon-6, 6 B) wrii-6, 6

C) Terylene

C) 0
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69.

70.

71.

2.

WO,

HMENETTTIS =l WS =qi9aiYesn iR

B) Polymethyl methacrylate

C) Polystyrene

D) Polyacrylonitrile

Among cellulose, poly vinyl chloride
(PVC), nylon and natural rubber, the

polymer in which intermolecular forces
of attraction are weakest is

A) Nylon

B) PVC

C) Natural rubber
D) Cellulose

The monomer used to produce orlon is
A) CH, = CHF

B) CH, = CCl,

C) CH, = CHCI

D) CH, = CHCN

Glass is

A} Polymeric mixture

B) Gel

C) Super cooled liquid

D) Microcrystalling solid

Among the following substituted
silanes the one which will give rise to

cross linked silicone polymer on
hydrolysis is

A) R,SICI
B) R4SICl,
C) R,Si

My Do

69.

70.

#ils

72.

A fmrsasEfe
HHPR 1 35 fan s &1

A) CH, = CHF
B) CH, = CCl,
C) CH, = CHCI
D) CH, = CHCN

LS| 2

A) sgeeh fsor
B) s\

C) ¥fa dergg
D) WiswifsrfeeEa 3
Frafafen sheanfia e i

TR W wig - T g fifemsia
gitenR o1 fmfor s ® |

A) R,SiC
B) RySICl,
C) R,Si

P L



74.

75,

76.

D e ettt bl i AR

A) 1
B) <1
C)2
D)1or>1

Which one of the following statement is
incorrect about enzyme catalysis ?

A) m:nu..__._mm are mostly proteinous in
nature

B) Enzymes are least reactive at’
optimum temperature

C) Enzymes are denaturated by
ultraviolet rays and at high
temperature

D) Enzyme action is specific
Which one of the following is an
example for homogenous catalysis ?

A) Manufacture of sulphuric acid by
Contact process

B) Manufacture of ammonia by Haber's
process

C) Hydrolysis of sucrose in presence of
dilute hydrochloric acid

D) Hydrogenation of oil

Among the eléctrolytes Na,SO,,

Qmﬁr ’ EmAmOn Vm and ZI#Q___ the
most effective coagulating agent for
Sb,S; sol is

A) Na,SO,
B) CaCl,

C) Alx(SO4);
DY NH.CI

74,

75.

76.

A) 1
B) <1
C) 2
D)131>1

mﬂ@@ﬂ%m@&uﬂ%%

F IR Teq B ?

A) TeTEn iR g SHh &
T E |

B) 5O AN W USITEH 1 St fHaTens
B E | .

C) USigy 3fegratacie ol afi 3= aramm
RiFa s

D) Gemen fFm e gl &)

= & & = a1 gt 38Rw Fr e R 7
A) " S SR wewie TR @ fiwin
B) & % wfthan grr s = Rty

C) ﬂm@ﬂﬁﬂ@iﬁ%@%ﬁ@m_

THIETRA Na,SO,, CaCl,, Alp(SO4),
3 NH,CI ¥ Sb,S, @fw & R g
T W T B

A) Na,SO,
B) CaCl,
C) Al (SO,),

el



78.

79.

A) Under high pressure it results into
multimolecular layer on adsorbent
surface

B) More easily liquefiable gases are
adsorbed readily

C) Enthalpy of adsorption (AHadsorption)
is low and positive

D) It occurs because of van der Walls
forces

Gold numbers of protective colloids
A,B,CandD are 0.50,70.01,0.10 and
0.005 respectively. The correct order
of their protective powers is

A) A<C<B<D

B) B<D<A<C

C) D<A<C<B

D) C<B<D<A

When a mc_E..,E sol is evaporated,
sulphur is obtained. On mixing with

water, sulphur sol is not formed. The
sol is

A) Reversible
B) Hydrophobic

C) Hydrophilic

78.

79.

P if &

THETEd SHEATH & enln <l HitEn=aiEsias

A) w1 Tara i sty @A W
arganItir e & afor SRS |

B) wifires srart & s Tl @ st
A T |

C) sxfereirest = R (A Hagsorption) ¥
i g ®

D) 5%&&&%@%@?

[T Shienaed A, B, C 3 DHIEN

£ ge W 0.50, 0.01, 0.10 ¥

0.005 & | 3R geen AfRE 1 T
%

A) A<C<B<D
B) B<D<A<C
C) D<A<C<B

D) C<B<D<A

ﬁﬁ%ﬂ%m@m@ﬁﬂﬂw.&
o T B & | e 3wy e W
aﬂnﬂ.ﬂﬂ%mﬁw.aﬂlf
A) st

B) BEGIBI

C) TEgIHieT

PR e ¥ == =2
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80.

81.

82.

83.

84.

The hydrocarbon which can react with
sodium in liquid ammonia is

A) Styrene

B) Acetylene

C) Propylene

D) Pentane

The compound formed as a result of
oxidation of ethyl benzene by KMnO, is
A) Acetophenone

B) Benzophenone

C) Benzoic acid

D) Benzaldehyde

Alkyl halides react with dialkyl copper
reagents to give

A) Alkanes

B) Alkenes

C) Alkynes

D) Alkyl copper halides

Some meta-directing substituents in

aromatic substitution are given. Which
one is most deactivating ?

A) —SO5H

B) -CN

C) -COOH = |

D) =NO,

When 2-butyne is treated with
Pd-BaSO,; the product formed will be
A) 1-butene

B) trans-2-butene

F o) T D S T T

-y

81.

82.

84.

80, ST erRieE 28 smifEr iHifeT %

e AT TEm R EE___ ©|
A) At

B) tifeeta

C) Wogei

D) U=

KMnO,, % ZR SISt SiSiil o TRl
Fuvmeey A e
A) UEHRSRTA

B) SIS

C) asiEs I

D) swifeeess
ﬂ@ﬂ.wﬂﬂﬁﬂﬂﬂ@ﬂﬂ.ﬂﬂ?ﬂm&
Fowofrma®_  wware |
A) Ueh-a

B) Ueehi=d

C) T,

D) ¥ferer I BETIEE,

AR SR ¥ 5 Ao -SERE

u@«ﬂz&ﬂmﬂiﬁw_ﬁmwﬂuﬁ
ool soe e g ¢

A) —SO,H

B) -CN

C) -COOH

D) -NO,

W& 2-sggréA 1 AfufEn Pd-BaSO, &
o7y Bl 8, o JTE I A

AT |
A) 1598
B) Z@-2-5¢H

vy e A =T




86.

87.

88.

knocking effect in IC engine ¢ qifTuuE Bar e ¢
A) Branchedthain olefins N A) TiE @ %ﬂm_ﬂm,
B) Olefins B) ST
C) Aromatic hydrocarbons C) Tirdf TS
D) Straight chain olefins .E N— St
Which of the foliowing acids does not .
exhibit optical isomerism ? 86. Frerfeafian & & =i w1 v AT

ITEamiEy vefiiia ?
A) Tartaric acid . e e |
B) Lactic acid A) T 3
C) Maleic acid B) o
D) o-Amino acids C) wetsh e

. ) ) D) o - 37

Which of the following reactions will not
result in the formation of carbon-carbon 87. fr & ¥ 99 H FEA-FET Agey §
Do e i 1 B ?
A) Reimer-Tiemann reaction A) YA SR
B) Friedel Crafts acylation B) 3 A
C) Waurtz reaction C) it PR
D) Cannizzaro reaction D) % .
The standard emf of galvanic cell | .
involving 3 moles of electrons in its 88. W7w i § 3 Hied FoagAgT
redox reaction is 0.59 V. The freafeeh e &1 W emf 0.59 V B | B i
equilibrium constant for the reaction of atfifen % fu o @ 2
the cell is -

A) 10
A) 1025 )

20

B) 1020 B)=10
C) 1015 C) 1=
D) 10% D) 10%




L

89.

80.

9.

The potential of a hydrogen electrode
atpH= 0Ois

A) 0.59V

B) 0.00V

C) -0.59V

D) -0.059 V

Which of the following electrolytic

solutions has the least specific
conductance 7

A) 0.002 N

Blistd

C) 02N

D) 2N

Dissolving 120 g of urea in 1000 g of water

gave a solution of density 1.15g/mL. The
molarity of the solution is

A) 1.78M

‘B) 2M
-C) 205M

92.

D) 222M

A 5.2 molal aqueous solution of
methyl alcohol, CHyOH jgisupplied.
What is the mole fraction,gf methy!
alcohol in the solution ?

A) 0.05
B) 0.10
C) 0.18

89. pH = 10 7T BTEEIH SAALIS I T
71

A) 059V
B) 0.00V
C) -0.59 V
D) -0.059 V
90. Fr=rfifaa oo el 4 @ ga@
Fx fafire yaera e e 7
A) 0.002 N .
B) 0.1N
C) 02N
D) 2N
91. 1000 ™ 9w 3 120 7T FfET Wi WA

e &1 e 1.15 g/mlL YT B
2 | Frerm Y Ao 21

A) 1.78M
B) 2M

C) 2.05M
D) 222 M

02, Rured Ueshiard & 5.2 e faedq
CH,OH i st i =melt 2 150 5 BuRe
Veahreiet 1 Aiet S T R ?

A) 0.05
B) 0.10
C) 0.18




WEIe sepdlidliely Uloaliviedd il 1AL 118
of water. |dentify the correct statement

94.

95.

96.

AU TTH RIME | = 5 &1 =aa D s et

2 | ghonfie fews § F\yaE % 353

regarding the elevation of Boilifg point -

(b.p.) of the resulting so utions.

A) NaCl solution will show higher
elevation of

B) Glucose solution will show higher
elevation of b.p.

C) Both the solutions will show equal
elevation of b.p.

D) The b.p. elevation will be shown
by neither of the solutions

Reaction of acetone with HCN QTmm

A) Substitution compound i

B) Addition compound

C) Elimination product

D) None of the above

Identify the correct statement.

A) Reaction mechanisms are studied
using isotopic labelling

B) Isolation of reactive intermediates
is a method to establish reaction
mechanism .

) Both A) and B) are correct

D) Neither A) nor B) is correct
Identify the monomers from the
following.

A) Acetic acid and benzoic acid
B) Adipic acid and ethylene glycol
C) Ethylene and ethanol . :
D) Phthalic acid and acetic acid

94,

98,

96.

3 wet 7 e e e A

A) NaC! foerm FaeAish 1 30 I~
CAUGIR

B) eI e Faudie 1 359 I-EA

Qmiwgﬂmamwﬁﬂﬂ.

<9 &

D) 21 ferrl gRT T T S~ el
AT Sl

HCN & T Y it arfifFa @

e B R |

A) wieem R

B) = ik

) feliw soE

D) o & #1§ oft 7

& U il TEEE

A) UEeiRie SrerferT 1 ST eh AT
& T aTeEgH R AT @ |

B) sfifsrareTs T QR &
FARfERT 0 oo fafr R

C) A) 3fR B) dHi @et &

D) A4 A) 37 & B) wEI R

frfafas # @ Amd i vEEE R

A) tfirfes e ol s

B) e We o enseli Rl

C) zumgel iR goATE

D) wiiftre Aire ofv Yffew e



.97 HRAETERE = & TR . o
IeITE T Bl £ | . :
A) Carboxylic acids A) FEifEaas Ui
B) Alcohols B) Uewige
C) Aldehydes : C) tfcesmgs
D) Ketohes _ D) €k
88. Which of the following do not contain 08, T ¥ i & wrl- RS 29a St
carbon — oxygen double bonds ? - T
A) Ketone - A) FRrg
B) Esters d B) ﬁ.«mﬂ
C) Acids C) M=y . .. _
D) Ethers D) sud
99. Chloroethane reacts with X to give 99. wERIEds afit X F il & smuEw g
diethy! ether. The compound X is Src s e & (v X 3
o el A) NaOH-
B) NaOEt
B) NaOEt

C) H,S0, :

- C) H,80,
D) Na,S,0,

: : D) NayS;0,

100. How do you distiriguish chiorobenzene

from benzyl chloride ? 100. a9 Sy FES @ FARNS
A) AgNO, test - _ TEE 8 7 m _
B) Schiff reagent test A) AgNO, n&m_.n_ i
C) By analysis of elemental B) i stfiarmian wltem

composition - C) HeTzed™ TureH o1 faveivw s



r. . S S.m ._.:ma_am:m_o:m_ Eac_maqnm:ﬂ_:_ﬁq

ree space {g;) in the equation

1 aq
_ F 4 ._m
mEy I
7 their usual meaning Is

where, symbols have

A) ML A T ] <
mvmz_.— w.._uh.bpmu_
%H:Ir[[!l. OVE.:..&__PM_._-LH

D) ™! 13 T2 »,.MH "
I

o _m.;l![inbm.llﬁgnﬂdﬂﬂl
4me,

TEEAT (g,) % fore smemft g
w_m%iﬂﬁﬂaﬂs.&w_

A) MLEAZ2TH
B) M'L T*A?)

CYM'L A2TH _

D)™ T2AT] * =
1 )

. Rkl 1

W 1 body moves along a straight line 102. O g 2 TS wm KT 3 ms* ® B
with acceleration 3 ms 2 for 2 seconds o SR R 3 dFe & foig. ms2 = J
and then with acceleration 4 ms 2 for &+ Oy QL& @1 geral 8, af 39 fiea Ld|
3 seconds. What is his average —or 3 2 ? W“m _
acceleration ? e R
A) 3.4ms 2 g i L
B) 35ms 2 B) 3.6ms :
C) 3.6ms 2 C) 3.6ms : ,
D) 3.7 ms-2 : D) 3.7ms o

«= - 103. Two bodies are projected at angles = 103. 2t et R EE T | o i o g

) ~(90° —~ ) to the horizontal with
-~ th mmammnmma The rati o::m__:_ﬂmm
==——=—TigHlis

A) sin6:1

ur?f'

B) cos9:1

0B A

C) sin®:cos6

D) cos®:sin®

Ak (90 0) wn ® weifte Rear st
F B ot F @@ w0 & foe w gng W
ST 2
3 P

sing. 1 B
B) 1
C) sin®:cos6

. 5in0

for,



105.

106.

| = 1 A
e .~ The co-efficient of friction-betweeniwo—|

surfaces is |1 =0.8. The tension in the
string as shown in the figure is

1kg

30°
A) ON B) 6N
C) 4N D) 8N

A body of density p and volume V is
lifted through height h in a liquid of

density ¢ (< p). The increase in
potential energy of the body is

A) V(p-o)gh
B) Vpgh
C) Vogh
D) Zero

A tunnel is dug along the diameter of
the earth. A mass m is dropped into it.
How much time does it take to cross the
earth ?

A) 169.2 minutes
B) 84.6 minutes
C) 21.2 minutes *
D) 42.3 minutes

107. A curved road of diameter d.r.m r_._.. is

banked so that no friction is required
at a speed of 30 m/s. What is the
banking angle ? _

AN po g\ 4o

105.

106.

107.

- 104=5rzraet & sfte 3 wfor s e =08 }1

frdoiugf@namema____ ®i
1kg

80

B) 6N
D) 8N

A) ON
C) 4N

ﬂﬂqﬁnﬁwwﬂmﬂm&ﬂm:.@ﬁﬁﬁ .
3R TEET V & TF S Sl FW IS
e B | Ieg <1 fow et & i

i 1K

A) V(p-o)gh

B) Vpgh

C) Vogh

D) =

T GO H geft F = & |9 § @
T E | T weHE m saR i fem
2| gt ) IR wE § 3¥ ReeT
e ?

A) 169.2 fiFe

B) 84.6 fire

C) 21.2 fime

D) 42.3 fime .

1.8 .11, =@ =1 IFEER S S
T %, s 30 ey wf dshe Y nfa
U7 Y ATITIRAT e 8 | 6 AT I
Co Il

AN /SO ™\ +4M~0




1o, Ine momentormne | Sp ere ol 108. 3=90H AR FTI R & g0 Fl I8 65
M qmn__:m R about an axis A IR BT 3 & e F m@
ummm“:u 53..6: its centre 5 MR . Emﬂu 3 mwa . T e
The radius of nﬁm&o: the sphere '
about a parallel axis to the above and HHMIAL 28 % TR F g0 R et _
me:nmaﬂ the sphere is 2 -
. 3 7 g ol
R =
A) 5 B) A B) &
7e 3l { 3
= . . _ =
109. The length of a mietal wire is [, when N N
i P -3 Tomﬁﬂaw HI TS | B IEH A T, |
- the tensioninitis T, and is 1, when @i 1, 3w T, } TR 4
i the tension is T,. The natural length of it & ) t |
wire Jiat _ E
=g Y TR
1T 2 A)
A) 5 2 o
b3 ez}
iem o %) Jhe g a W
) T T, alz kT :
- o b 2 M |4 C) 1. T o
a B -1 b b >
' E
£ ,_u L1, LT r T LTy
) £ 55T, 5dii
; x
e _imgsmmzvmmﬁﬁ_mm:ucaummoioq 1 mﬁmmﬁmmﬁﬂ 50, Hg wmm B
_ average pressure of 100 mh ¥ 80 fir. qu] T & 2 60 L A
of Assuming®B0 heart beats per IR &9 YSHar w, o 75T & LS

second, the power output of the heartis
(pyg 136 10°kg %)(g 9.8ms )

A) 1 B) 1.06

N 4 AN YA — -

21 (= 13.6810° kgm ?)
(g 9.8ms ?)
A) 1.0W B) 1.06

e = =i s
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112.

113.

114,

115.

Two liquids A and Bareat32°Cand

24°C. When mixed in equal masses
the temperature of mixture is found to
be 28°C. Their mumom_o heats are in
the ratio

A) 3:2 B)2:3
C)1:1 D)4:3
If pressure and temperature of an ideal

gas are doubled and volume is halved,
the number of molecules of gas

A) Become half

B) Become two times

C) Become four times
) Remain constant

The rms speed of oxygen at room
temperature is about 500 m/s. The rms
speed of hydrogen at the same
temperature is about

A) 125 m/s
C) 8000 m/s

B) 2000 mvs
D) 31 m/s

The distance _wm?_mm: two points
differing in phase by 60° on a wave
having a wave velocity 360 m/s and
frequency 500 Hz is
A) 0.72m

C) 0.12m

B) 0.18m
D).g36m

& o
A particle moves according to. ﬁ:m _mE
P g
X= :Bmm. The a_mﬁmsnm no._..maa by

itin the time _:_m:..m_ betweent=0 and
t=3sis

AN = Y N

ol T

FHF

112.

113.

114.

115.

AET AN 32°C IR2ACHRATET

Wl ST <Rl T w3 R s g,
@ fiyeron <1 AT 28°C B ST 8 | 36
fafiree i =1 s i

A) 3:2 B) 2:3

[ o 3 | D) 4:83

IR Tk ISy 79 F1 g=E AR AHH
AT B ST 8 7R ST ST € S,
A fa % srupeii <t T

A) el B St R

B) & I & I ©

C) IR T 8 91l 8

D) f&Rr i ?

FHL F q9EE | iedsE it s Tifg

AT 500 my/s B | EY AT W ERSNH

Y rms Tifd T 71

A) 125 m/s B) 2000 m/s
C) 8000 m/s D) 31 m/s

360 m/s T an 3 500 Hz Mg &
a0t ® 9 & 60° gRT e & fagHi &
dEmdrg Rl

A) 0.72m B) 0.18m

C) 0.12m D) 0.36m

X uqnom_.m. m o STET G %01 et

21t =0 3t = 35 & &= G99 a0 §
36 7 1T T 2

AY - 5y M




v B g WRE AT 5.

____long uniformly omm.qmmmmﬂwmnmg then

117.

118.

. sides of the letter are 20 cm and thes

A) V<R

1

X
B) V=R

1
o V&R £
D) Visindepe dentof R

The capacitance of a parallel plate

4 :
gcapacitpr 2 = times its original
value if a dielectric slab of thicknegs
d
o is inserted the plates’

(where d is the distance of separation
betwee the plates). Whatis the dielectric
constant of the slab ?

A) K=2

B) xuvm 3
C) K=1

D) K=A+2 )

A letter ‘A’ is construgged of a uniform
wire with resistance Qcm ', The

cross-piece in the middieis 10~ long.

" The apex angle. 60°. The resistance

between the ends of the legs is
A) 50.0 Q

B) 26.7 Q

C)272Q

D) 34 Q

117.

118.

Mw RIFTEW SN AR RRE AT RER CEREAER T TR

A) Ve<R

J
R

ou<agw
D) R¥ waae

o =3 st & TR AR g
& W F e PR fn s R, S0
e S gt o A
mead TR (e e

oo T @ 7 (SrEl iR o Wi % guE
g dr) .

B) Ve

A) K=2

B) xlmm §
C) K=1 e
D} K 2

@
gfed 1.0 Q cm ' % TN TH THHA TR
F o ‘A" 1 EeEAT R TS & | ol i e
20 cm 3T Hex # PR @€ 10 cm
i & | 9 i 60° B ) URN A %
i 1 ghiy B
A -
B) 26.7
C) 272 Q
D) 34

k)



e 100D Al -

two semicircular wi

res of radi R, and _u.m

carries a current I as shown in figure
below. The magnitude of magnetic
induction at centre C is

(1
D) ol _ﬁw

120. The magnetic flux through a coil varies
withtime as Q 5t%+ 6t + 9. The ratio
of emf att=3s to t = Os will be
A)1:9 B)1:6

C)6:1 Eo; _

121. An alternating voltage V = Vysinwt mm_
connected to a capacitorof capacity

C, through an A.C. ammeter of zero |

resistance. The reading of ammeter is

A B O

2 - wCy2

<=BO

. SRty DR Tk
419 o § R 1ger A afwy PQRSP
=1 fmfor fory ma B, S w1 w1 9
AT S | 5 C T YSh1a Sehed o foreant

Lo = B

o Wil 11
o (%]

C) Wolj =

(1
D) Hol flw

120. Hecl & ATy | Yok Ty
Q 5t2+6t+9 F SE G F WY

yfEffa g2 1t=3sqt = 0s ah emf
agm B
A)1:9 B) 1:6
| C)6:1 D) 9:1
121. Y ek & ¢ H. Wi grn C,, aman
- FEATEH V=, sin ot Te&d Seds

AR I AR R

LA (gt

A 3 B) oCV2
YA




S T T T TR

incident on one face of a prism, does
not emerge from the other face ?

s,

123.

124,

2

(A
mw n<sec Hlmuu

C) n>secA

A) :Aocmmnﬁbu

D) n> cosec ﬁmu
The critical angle for glass is 41°48’
and that for water is 48°3g’. Calculate

the critical angle for glass-water
interface.

A) 62°43
C) 52042

B) 34°42
D) 44-42’

In Young's double siit experiment, one
of the slits is wider than the other, so
that the amplitude of light from one slit
is double of that from the other slit, If L
is the maximum intensity, what is the
resultant intensity when they interfere at
phase difference Q ?

A) _waﬁ._lmnommmw

B) Waﬁ?mnomm.m.w

123.

124,

Als wH = Uw Hikd 5N RT AT Biar
® ¥R go oo & e T B, @ stavaw

T :

A
A) n<cosec ﬁmu

A
wu:.ﬂm@n Hmy

C) n>secA

A
Uw DVOOQGOﬁMW
IS T FHIfH HI0T 41048 3 qrft 307
I FIT 48°36 B | F — TR &
FTHY 1 SHifden ST 719 Hfr |
A) 62°43 B) 34°42
C) 52042 D) 44042

ﬂwﬁﬂﬂmﬂ:#ﬁﬂm%
wofle & faeqa @ | sufem o whe @ v
1 TR g wehe & gE &) eR 1
Hitrwaw g 8 o, = 9% IF1 5w &
IM Q # el w1 2, 7w wfomeh
dem R e ?

2Q

|
A) .m_rﬁl_r 8cos Mw

B) %T+mnomm.olu
C) Im,,ﬁtmoommov

D) .HHT - sin? Q
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125. Maximum kinetic wsmq.nm ofa

photoelectron varies with the frequency
(f) of the incident radiation as

A) Eyc A

B) E, A

LA
%

-

D) Ex

—

.....

125, safim R 1 s1f () & @
B g Y stfteran Tl il
gfafda e 8, 7

A) A

B) Eg A

i
o
N

C

D) E4

>

SE




127.

128.

the energy o pnoton corresponaing io

T Sl U o Fa  BIeH R S

e e —————— e e

A) 18.9eV
B) 3.03 eV
C) 1.89eV
D) 30.3eV

The half life period of a radioactive
element X is same as the mean life time
of another radioactive element Y.
Initially they have the same number of
atoms. Then

A) XandY decay at same rate always
B) X will decay faster than Y

C) Y will decay faster than X

o.w X and Y have same decay rate

initially

Caobalt - 57 is radioactive, emitting

B -particles. The half life for this is 270
days. If 100 mg of this is kept in an
open container the mass of Cobalt — 57
after 540 days will be

A) 50 mg

) (2)n

C) 25mg
D) Zero

A) 18.9 eV
B) 3.03 eV
C) 1.89 eV

D) 30.3 eV

127. e et qeisen X &1 e sfiamere
T e qesea Y& sfaa e
¥ e & | T I o W den
H g & | 4
A) X 3R Y T8 @ 8@ 9 R T
B) Y <l gorn # X e & wear 2
C) X gan il Y Ioh & gear 2
D) Y= & X 3R Y %1 T e o

128. WiETee — 57 WA § St B -Foii &
Ioqsi ST © | 35T 3T sfiew 270 fem
1 afE 3% 100 mg 1 @A s § @
ST %, @ 540 R 9 Freree - 57 #
E LI B |

A) 50 mg

50
B) me mg
C) 25 mg
D) 3

. 1
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129. In the circuit of figure, treat diode as

130.

131.

ideal, current in the 4 Q resistor is

Bz
D, 30
20
il 40
Thav W .
A) 2A B) 3A
C) |N A D) ._@

A travelling microscope is focussed on

an ink dot. When a glass slab (n = 1.5)
of thickness 9 cm is introduced on the

~ dot, the travelling H_Gaomno_um hastobe

moved by

A) 3 em upwards

B) 5 cm upwards
C) 3 cm downwards
D) 5 em downwards

A stationary object is released from a
point P a distance 3R from the centre
of the moon which has radius R and
mass M. Which one of the following
expressions gives the speed of the
object on hitting the maon ?°

B n(e

.«.-.h.r-n.r.—ﬁ P P

ol s

129, ﬂ%%%m@%&%ﬂﬁ@m

4 Q vy § g i

D,
Dy an
K 120 40
Tav
A) 2A B) 3A
._m - 30
. A D) 33

130. T TET AEHEHY F 0 0w F g

131.

T SHfed S smar 8 | 59 9 1. oY, Hierdart
| @ (n = 1.5) F forg W @ s
?, AIAET ARSI Rl TIFRG
T 2 |

A) 3¥.h. IR 3l

B) 5.7, T 3in

C) 3&.Hi. = it 3t

D) 5@.H1. 1= i a7

R fwe oft M somMaTe 9% % % §
3R R fig P & T fer g =1 1 fan
ST & | =% & TR TR e i T e 3
| Tl i arfeafas gafdt 8 7

JC )

\Iluulléw \|.|f.—3.\




Eum _"namm.mmnnozm_ area 10 n_._..nm:n

mxm:m __,_m Em__ E the __‘:um& o*
water assuming it does not rebound is

A) 2.25x103
B) x10® N
C) 30x N
¥ D) 3.5x10° : -

133. # 5 “ |

identical charged spheres are _
stisp-anged by strings of equal lengths. _
The st®hgs make an angle of 30°

each other. When suspended in a liquid

of density the angle remains

the same. If density of the material of the

133.

WATATH B8 S40C R AT < TGN MR

u@&nuﬂ.@aﬁﬂzwﬂi%uﬂﬂ =
& diar TR H "
A) 2.25x% z_m L

t 2 _

B) . x10°N -~ ﬁ

C) 3.0x10°N
D) 35x10°N
&ﬁnnﬂmmﬂ%ﬂﬁ&ﬂaw%@?
FEFECYE & SR wH-qm A 30° w1 ™
I T G g cnv ued & 54 W
TeHH T off v w9 wan § ) Ak T@

"

=

oL

sphere ‘s cm—S, the dielectric FTETRT ST g onT O &, al 5 1
constant of the liquid is ﬁ : TG 4|
A) 1 A) 1 m w
B) 4 B) 4 : St e |
C) C)
D) 2 M D) 2 i .
! - " § K ! _ t
184" Anclectic iR E (21 +S)N/Cly W 194 E=(2l+3)NChEads - &

* exists _:rumon e wotential
diffgrence (Vp. - <nv between

poimis P and G va1gae position vectors
“To=i+2jand'ry M” +j+k

A) =1V

B) 2V

C) -3V

D) 4V

- fRvEiat (Vp - V) 2

Ao B | S e gfgm 142

@ﬂ.nw..oﬁn .m..+_.+.mwmn IR Fdw

A) =1V : < _
B)

C) -3 _ ,
D) 4V



135.
~difference between A and Big—""

136.

137.

138.

In the circuit below, the potential

, [ 190V
1
| | | |3MF
1 I
1LF
| | _
I A __Lw
1uF 3uF
A) 10V B) 20 V
c) 30V D) 40V

A copper wire of 3 mm?2 cross sectional

area carries a current of 5 ampere. The |

magnitude of the drift velocity for the
electrons in the wire, (Assume copper
to be monovalent, Mg, = 63.5 kg/k mol
and density of copper = 8920 kg/m?3)
A) 0.24 m/s B) 0.12m/s

C) 24m/s D) 0.06 m/s’

Two long parailel wires placed 0.08 m

apart carry currents 3 A and 5 A in the .

same direction. What.is the distance
from the conductor carrying larger
current to the point where the resultant
magnetic field is zero ?

A) 0.5m B) 0.04 m

C) 0.05m D) 0.4 m

The relative permeability is represented
by p, and the susceptibility by % for a
magnetic substance. Then for a
paramagnetic substance

A) u, >1%<0 B) u,>1,x>0

135, A1 foq o wffe &, A ofw B ¥ =

136.

137.

138.

T r—— e R

fosmmar 2

180V

]
[PVl

[ | | 3HF
[ |

1HF

[

11F 3uF
A) 10V B) 20V
C) 30V D) 40V
3 mm? SIS HI AR S

YR T T T B | OR ¥ so $ R
Agare G AR ¥ (WA ot
FIH AAATE B, Mg, = 63.5 kg/k mol 3i
ST H1 I = 8920 kg/m3)

A) 0.24 m/s B) 0.12m/s

C) 2.4m/s D) 0.06 m/s

0.08 Hiex & 3767 &) walt g R w €
R % 3 A 3iv 5 A urr 757 weh #) e
HIT %l FE FaT Sewel & el gad
SR, R aF g R 2 7
A) 0.5m B) 0.04m
C) 0.05m D) 0.4m

g werd & foe wdensiierar X 2 1@
g v §

A) g >1y%<0 B) u,>1,%>0

e ————r——
. .




139. A transtormer of eificiency 90% has

___turns ratio 1. 10, If the voltage across

the primary is 220 V and current in the
primary is 0.5 A, then the current in
secondary is

A) 55A
B) 5A
C) 4A
D) 45A

140. A 1 cm height needle is placed at a
distance of 0.1 m from a convex mirror
of focal length 0.05 m, then size of the
image is
A) 1ecm
B) 0.66cm
C) 0.33cm

D) 0.5cm

141. If g isthe polarising angle for two optical
media whose critical angles are C, and
C, then the correct relation is

sinC,
sinC,

B) g=S5NC
) sinC,

A) sin®=

C) tanf= - SinG,
sinC,

139, moﬁmﬂ_.m_ﬂ_ﬂﬂ_ﬂ_ﬂﬁmﬂﬂmad 1:10

E%Emmmaom}w %ﬁﬁﬂm
gy B

A) 55A
B) 5A
C) 4A
D) 45A

140. 0.05 m HiFE gt & 39w 390 F 0.1m
F g 1 cm St g = w@r w R, @
Rt eamr R

A) 1cm
B) 0.66cm
C) 0.33cm
D) 0.5 cm

141, R & a1 g H 6
R, fremr ifees 301 C, ofK G, R vl
Tay -

. sinC,
ne=
}u : m._:nw._

sinC,

B) 9=
) sinC,

sinC,

C =
) tane sinC,
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distance of 20 cm, their equivalent by : . e
+—D
i power becomes +|mmHU. then their T IR WG A 5 & Sl B, i
mﬂnm individual powers are | mmmu_%_mﬂmﬂamﬂﬂﬂ R
A) 6D and 3D Bpcvan : PN
B) 6D and 4D _ B) 6D i 4D o B el
c > - C)oDp 33D : -E el
) 8D and 3D D) 9D ik 6D
D) 9D and 6D |
: 143, afe st # 2WiQ TQ 3o0HH Y T o PR g
143. Hf the mass shown in figure is slightly frefe R ST & 3k R s R i
displaced and 3..“: let u.o. Em._._ the St — ﬁ_ﬁ% /R
system shall oscillate with a time R RR——
period of o
k 1
k |
- : q _
. - |
___.m
e ;
m A} 2w |—
o |—
wnfE T
Tt SR | 3m
.\ms _ B) 2n [20
B) 2 oo .
) 2n o 3 : oK . |
. ; 2m % o
‘ma : C) mﬁ\| | &g
2n,[— .
C) 2rn 3 2 |
. 3k
D) 2r,[% _ D) 2n >




144,

In Young's double slit experiment, using

144, 3 #i <=9 wfie s #, A adned %

145.

146.

amonochromatic light of wavelength 3,
the intensity of light at a point on the
screen where path difference is ) is K
units. Then the intensity of light at a point

where path difference is X is

K
A) Pl
B) 2K
C) 4K

D) 2

The temperature co-efficient of resistance
of a wire is 0.00125/°C. Its resistance is
1Q at 300 K. At what temperature, its
resistance willbe 2Q ?

A) 1127 K
B) 854 K
C) 1217 K
D) 1154 K

If the vertical oo_._._uo:m:ﬁ of earth’s
magnetic field at a place is /3 times
the horizontal component, then the
value of dip at that place is

A) 60°
B) 45° .
C) 30°

145.

146.

forg w <& 9w iR A 2 Tl v A

%mﬂxmﬂa&m_%ﬂ%ﬂﬂﬂvmw
FeivmmAIfam )

K
h&..w.

B) 2K
C) 4K

K
UVM

TR % SR =51 A 1Tk 0.00125/°C
81 300 K W 3m= wfedg 1Q 2) frm
AIH W IqehT Sfety 2 Q g 7

A} 1127 K
B) 854 K
C) 1217 K
D) 1154 K

f Frelt W gyeeht A Jebtg @9 &
S He 36 AT weH A 3 TR,
Al 39 T R I F T B

A) 60°
B) 45°
C) 30°

— e —
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K

T H47ARIesHoN and - Proton-enter-a———eajmmmm—m

magnetic field perpendicularly both
have same kinetic energy. Which of
the following is true ?

A) Trajectory of electron is less curved
B) Trajectory of proton is less curved
C) Both trajectories are equally curved
D) Both move on straight line path

g g & § wEad T w1 2
R i S wadd ?

A) T Y T&T-9Y 7 gaTEER &
B) WM # w&9-9Y % gHEEn 3
C) &l J&Y-v9 ¥ gHrRR

D) 2N} we Y@1 99 W ey @

IRt

148. The reason a moving coil galvanometer 148. T werdt See fediier F1 399 uw
cannot be used with an alternating

. SR ura % qe e e o e g,
current is that -y
A) The coil bends easily ; NEN 2
B) The coll heats up too much A ﬂd ok
C) Sparks can be produced B) e g it e &
C) e fFmtor 8t wrereht 2

D) The net magnetic field produced is o
zero D) Y& go=hg & & fmior g1 &

149. Select the output Y of the combination 149, Wﬂ_mﬂm%ﬁﬁ%n&ﬂwgn .
of gates shown in figure forinputs A = 1, . _

B=0;A=1,B=1andA=0,B=0 ¥EA=1,B=0,A=1,B=13A=0,
respectively. B = 0 % forg arrege v &1 o |

n¥] |1
UTUTUL D

B) (1,0,1) A) (0,1,1) B) (1,0,1)
D) (1,0,0) C) (1,1,1) D) (1,0,0)

150. The minimum number of geostationary ez A yar AT
satellites required for uninterrupted 1505 NENE— 8t Wﬁﬂ Y

global coverage is
A) 3 B} 5 | AN A P

L= .-

A) (0,1,1)
C) (1,1,1)
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